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Choose the correct option/Answer the
following :
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(2)

(b) o R TRT TH

(c)
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The example of near money is
) &=
cheque
(i) G Ewd
bank draft
(it)) (i) S (i) IO
Both (i) and (i)

(iv) SR 918 7y
None of the above

e @R 99 5§ = ikt 3w
Capacity of credit creation of commercial

bank depends on

(i) W FLFR A S5
cash reserve ratio

(i) TR TR 8qS
rate of interest

(iti) JarPIRsT eoqe
rate of inflation

(iv) SRR Qbre T
None of the above

( Continued )

(3)

(@) fgh < oFe wow w2

What is net national income?

() SHRETS WO HH AT F

()

(h)
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In India, national income is estimated by

(i) e s
Finance Commission
(i) &8 AR b
Central Statistical Organization

(iii) SROW RES @

Reserve Bank of India

(iv) IR A

Central Government

NicckeiiAe e ACERERIN
Write the meaning of Disposable
Personal Income,

e frsegd T T SR f

Write two basic assumptions of classical
theory of employment.

e Jurife oo S

Give one example of cost-push inflation.
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2. ffafrorza 0 i con vfEeR v g e
(dfecht seo #oa f5T13) 4#4=16
Write short notes on any four from the
following (within 150 words each) :

(@) 5 arem B
Gross national product

(b) e v

Effective demand

(c) IR AT
Balance of payments

(d) ffizns sefFm

Investment function

(e) & QF
Rural bank

(N 1 c@
World bank
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(5)

3. wI@w i 130 =i o aramars W 2%

far 7 @@ty w1 w4 Bl e < 45f BT
74 | 2+5+5=12

What is national income? How far is it
important in modern economic analysis?
Discuss any one method of computing
national income,

q9q]/ Or

GIOW TR AT FAA B % AW AEE 76 00
1 @ o foere @Rl e TmEAE o
A B Az 2 8+4=12
Explain the income and expenditure
methods of computing national income.

Which of the two methods is more suitable
for developing countries?

. @A e fon ) qEE AR e R @

HAFATDT 0 T4 | 2+9=11
Define money. Explain the cash transaction

approach to the quantity theory of money.

Y341/ Or

UM IRRE T 31 A4S @ WqF o @
o & a2 7+4=11
Explain the functions of money. What do you

mean by actual money and money of
account?
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(6) (7))

5. TR @@ B2 TRE @R FRRA Sl 7. SR PR B e exeht e 91 1 a2

0 3+8=11 : OYOH SPIRUPTR Seay 4 | 74411
Discuss th o
What is commercial bank? Discuss the intemat_iOna]e e S-mlths theory of
functions of commercial bank. trade. Mention its drawbacks.
2_1/ Or 341/ Or
&8 @R e fEl @EY @@ IR e I 7 7o TfeR Ra @@ SRem
A 01 3+8=11 HICAoAT 1 1 3+4+4=11
What is i ? Di .
Define central bank. Discuss the functions of - trade? Discuss the merits and
demerits of free trade. L
central bank. ,
G.WW%WﬂQTﬁG_\m EUiSINRECIE * ok ok
SRRYPR Sy 9 | 7+4=11
Explain the classical theory of employment
and income. Mention its drawbacks.
211/ Or
@ e ot R 711 | Tefe e @}
T APl e 2 8+3=11
Analyze the Keynesian theory of employment.
How far is the theory relevant in present-day
context?
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